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Ùæ‚¢]<Ü³_êÖ^jÖ]<íéÖ^jÖ]<l^Þçèù]<àÚ<íÞçÓ¹]<íéÞçèù]<íf×’Ö]<Ý^Šqù]<àÚ<ØÓÖ<íéñ^éÛéÓÖ]<íÇé’Ö]<íe^jÓe<V< <
< <

< <
 
 
 
 

   
  
  

 �����2 

<á^eæ„Ö<íéñ^éÛéÓÖ]<íÖ�^Ã¹]<gjÒ_<àÚ<ØÒ<íéÖ^jÖ]<íéÞçèù]<íf×’Ö]<l^fÒ†¹]ð^¹]<»V< <
< <

>:آ��رور ا������م <
4NH Cl< <

>:آ�����ت ا��������م <
2 3K CO< <

>:�����ت ا��������م <
3 4K PO< <

>:ا������مآ�����ت  <
2 4 3( )Al SO  

< <
 �����3 

<<<<l^éŞÃÚ<<V< <

●íéñ^éÛéÓÖ]<†‘^ßÃÖ]<˜Ãe<íéf×‰†ãÒ<<V<<<<<<( ) 3,4 ( ) 3,0 ( ) 2,6 ( ) 2,2O N C Hχ χ χ χ= = = =<< <
●íéñ^éÛéÒ<Å]çÞù<íéòèˆ¢]<tƒ^ÛßÖ]<V< <
<< <

< <
1I Ôe]çq<ø×ÃÚ<HíéfŞÎ<íéße<^�<�Ö]<l^òèˆ¢]<�‚uJ 
2I ]<‚éŠÒ_<êñ^ßnÖ<á^eæ„Ö]<íé×e^Î^Ûßée<íËéÃ•<ð^¹]<»<áçe†ÓÖ<íÃËi†Ú<ð^¹]<»<Õ^éÞçÚúÖ<á^eæ„Ö]<íé×e^Î<JÔÖ„Ö<]�ŠËi<¼Â_J< <
<<<< <

 �����4<<< <
<í×jÓÖ]<h]„i4,05 m g=<<‚è‚£]<…æ…ç×Ò<àÚ(III)äÛru<Ùç×¦<�–vjÖ<H†ŞÏÚ<ð^Ú<»<100 V mL=J<< <

1I Ö<íéñ^éÛéÓÖ]<íÇé’Ö]<gjÒ_]<…æ…ç×Ó<‚è‚£(III)J 
2I ð^¹]<»<äÞ^eæ„Ö<íéñ^éÛéÓÖ]<íÖ�^Ã¹]<gjÒ_J 
3I Ùç×vÛ×Ö<êÖç¹]<ˆéÒ�Ö]<gŠu_J 
4I Ùç×�]<»<íŸ^ßÖ]<l^ÞçèúÖ<ê×ÃËÖ]<êÖç¹]<ˆéÒ�Ö]<gŠu_<J< <

<<<<<<<<•<l^éŞÃÚ<<<<<V1( ) 35,5 .M Cl g mol −=<<<</<<<<1( ) 55,8 .M Fe g mol −=<<<<<<<     

   <<<<<<<<<<<<<< <
< <
< <

� ا�����ا�����ت��� ا�����   ا�� ��� ����آ� ا���  "�!� ا���آ� ا�

K +<æ<I −< << <
2Cu +<æ<Cl −< << <
3Fe +<æ<3NO −< << <

K +<æ<2
4SO −< << <

  

< <

  

< <

  

< << <
� أآ%�$ ا� ���ن'��( )2CO( �����ر ا�-�$رو,�+  )HCN3(ا������ك   )NH4(ا������0ل   )CH O(  
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< <
 �����5<<<<<< <

<x×Ú>…çÚ<>(sel de Mohr) êÞçè_<g×‘<gÒ†Úð]†–}<l]…ç×e<ØÓ�<î×Â<Jêâ<íéñ^éÛéÓÖ]<äjÇé‘<4 2 4 2 2( ) ( ) ,6Fe NH SO H O<J< <

êâ<íéÖç¹]<äj×jÒ<æ1392 .M g mol −=J< <

1I <‚è‚£]<l^Þçè_<ØÓ�<î×Â<…çÚ<x×Ú<»<‚qçè<‚è‚£]<†’ßÂ<á_<°e<HíÇé’Ö]<å„â<Ù^ÛÃj‰^e(II)<2Fe +J 
2I ð^¹]<»<gÒ†¹]<]„â<á^eæ„Ö<íéñ^éÛéÓÖ]<íÖ�^Ã¹]<gjÒ_J 
3I äÛru<gÒ†¹]<]„�<êñ^Ú<Ùç×¦<�– <�]†è<100 V mL=l^Þçèù<ê×ÃËÖ]<êÖç¹]<ˆéÒ�Ö]<äéÊ<áçÓè<oéb<<

<‚è‚£](II)<çâ<2 10,10 .Fe mol L+ −  = <J<Ö]<…çÚ<x×Ú<í×jÒ<^Ú[^ãje]ƒc<êÇfßè<� 

< <
 �����6<<<<<<< <

ð^¹]<àÚ<‚u]æ<�Ö<»<^ãje]ƒc<àÓµ<�Ö]<gÒ†¹]<]„�<ïç’ÏÖ]<í×jÓÖ]<‹éÏè<…]‚ÏÚ<ð^¹]<»<êÞçè_<gÒ†Ú<íéÞ^eæƒ<J<„òßéu<êñ^¹]<Ùç×�]<Ì‘çè
Äf�¹]<Ùç×�^e<VgÒ†¹]<]„â<àÚ<íéÊ^•c<íéÛÒ<íe]ƒc<î×Â<…�^Î<�Æ<xf’è<Ùç×�]<áùJ< <

ì…]†£]<íq…�<æ<h]„¹]<íÃéfŞe<ð^¹]<»<íéÞ^eæ„Ö]<Ð×ÃjiH<^ãi‚uæ<æ<1.g L−J< <
íéÞ^eæ„Ö]<ÜéÎ<äfÞ^q<Ùæ‚¢]<êŞÃè<s<ð^¹]<»<‚ßÂ<íéÞçèù]<l^fÒ†¹]<˜ÃfÖ20 C°<J< <

1I ð^¹]<»<íéÞçèù]<l^fÒ†¹]<å„â<àÚ<ØÒ<á^eæ„Ö<íéñ^éÛéÓÖ]<íÖ�^Ã¹]<gjÒ_J 
2I ^ãßÚ<ØÓÖ<Äf�Ú<Ùç×¦<»<íŸ^ßÖ]<l^ÞçèúÖ<ê×ÃËÖ]<êÖç¹]<ˆéÒ�Ö]<gŠu_J 

<<<<<<<<<•<l^éŞÃÚ<<V< <
1( ) 1,0 .M H g mol −=<<<</<<<<1( ) 14,0 .M N g mol −=<</<<<<1( ) 16,0 .M O g mol −=  

1( ) 23,0 .M Na g mol −=</<<1( ) 35,5 .M Cl g mol −=<<<</<<<<1( ) 39,1 .M K g mol −=< <
< <

 �����7<<<<< <
á^éñ^Ú<á÷ç×¦<†–¬V< <

I Ùç×¦1S<<V<íe]ƒde50 mgÝçéŠÖ^ÓÖ]<‚éŠÒæ…‚éâ<àÚ<2( )Ca OH<<î×Â<Ùç’v×Ö<ð^¹]<»<100 mLH<Ùç×�]<àÚ< <

I Ùç×¦2S<<V<íe]ƒde80 mgÝçé‰^içfÖ]<‚éŠÒæ…‚éâ<àÚ<KOH<<î×Â<Ùç’v×Ö<ð^¹]<»<100 mL<Ùç×�]<àÚJ 
1I Ùç×¦<ØÓÖ<êÖç¹]<ˆéÒ�Ö]<gŠu_J 

2I Ür£]<tˆµ1 50 V mL=àÚ<<Ùç×�]<1SÜr£]<ÄÚ<2 50 V mL=àÚ<<Ùç×�]<2S<J 
<°e<ØÂ^Ëi<ë_<Ø’¬<÷<äÞ_<^Û×Â<¼é×¤]<»<l^ÞçèúÖ<ê×ÃËÖ]<êÖç¹]<ˆéÒ�Ö]<gŠu_°Öç×�]J< <

<<<<<<<<<•l^éŞÃÚ<<<V< <
1( ) 1,0 .M H g mol −=<<<</<<<<<1( ) 16,0 .M O g mol −=  

<1( ) 39,1 .M K g mol −=<<<</<<<<1( ) 40,1 .M Ca g mol −=< <
< <

1  ��ا���آ� ا���( . )s g L−   

NaCl  360  

4NH Cl  372  

3KNO  316  
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„}öè<êÞçè_<g×‘<ÜŠ¢<íéñ^éÛéÓÖ]<íÇé’Ö]<íe^jÒ<‚ßÂ<…^fjÂ÷]<°Ãeêñ^e†ãÓÖ]<Ù�^ÃjÖ]<V< <
< <

< <
 
 
 
 

   
  
  

 �����2 

ð^¹]<»<íéÞçèù]<íf×’Ö]<l^fÒ†¹]<àÚ<ØÒ<á^eæ„Ö<íéñ^éÛéÓÖ]<íÖ�^Ã¹]V< <
< <

4NH>:آ��رور ا������م Cl< <
< <

2
4 ( ) 4( ) ( )

H O
s aq aqNH Cl NH Cl+ −→ +< <

2>:آ�����ت ا��������م 3K CO< <
< <

2 2
3( ) ( ) 3( )2 2H O

s aq aqK CO K CO+ −→ +< <
< <

3>>>:�����ت ا��������م 4K PO< <
< <

2 3
4( ) ( ) 4( )3 3H O

s aq aqK PO K PO+ −→ +< <
  

2>>>:ا������مآ�����ت  4 3( )Al SO< <
< <

2 3 2
42 3( ) ( ) 4( )2( ) 3H O

s aq aqAl SO Al SO+ −→ +  

< <
 �����3 

1I ]<l^òèˆ¢]íéfŞÎ<íéße<^�<�ÖV 
 

]ƒc<íéfŞÎ<íéße<<íòèˆ¢V< <
- HífşŞÏjŠÚ<¼e]æ…<Ü–i<kÞ^Ò< <

- q†Ú<æ<ífqç¹]<àv�Ö]<xq†Ú<á^Ò°Ïe^ŞjÚ<�Æ<ífÖ^ŠÖ]<àv�Ö]<xJ 

 

  )HCN(�����ر ا�(��رو)�'   )2CO ($��#" أآ �� ا�����ن

 

  
( ) ( )O Cχ χ> ←  ا��ا�*��ن C O= ن���*+� �:  

  
��آ. (، �4ن ��)3 ا�12' ا���)�,0*�,��' ��� أن ا�/.�-, 

 )��آ. ذرة ا�����ن( و ��)3 ا�12' ا� ���,)ذرة ا�����ن
  :��*��+�ن

    
  .89*��, ).�-,  $��#" أآ �� ا�����ن).�-, ◄
  
  

 

  
( ) ( ) ( )N C Hχ χ χ>   :� �+*�, ا��ا�*, ←<

  
 و ��)3 ا�12' )��آ. ذرة ا�����ن(��)3 ا�12' ا���)�,

  :��*��+�ن9  )��آ. ذرة ا�زوت(ا� ���,
  

  
  
  

  .8*��,).�-,  ).�-, �����ر ا�(��رو)�' ◄
  

  ?�<, ا���آ> ا�=�> ا����"  ا�����ت ا�����, ����آ> ا�=�> ا����"

K +<æ<I −< <KI< <
2Cu +<æ<Cl −< <2CuCl< <
3Fe +<æ<3NO −< <33( )Fe NO< <

K +<æ<2
4SO −< <42K SO< <



 2

4CH(ا������Bل  )3NH(ا������ك  O(  

     

( ) ( )N Hχ χ> ← Cا��وا� N H− ,�*+� �:  

    
و ��)3 ا�12' ) ��آ. D�8�ة ا�(�م(��)3 ا�12' ا���)�, 

  :��*��+�ن9 ) ��آ. ذرة ا�زوت(���, ا� 
  

  
  .8*��,).�-, ا������ك ).�-,  ◄
 

  
( ) ( ) ( )O C Hχ χ χ> >    

C  ا��ا�*��ن ← O−  وO H−ن���*+� � :  

    
  :��*��+�ن9 ��)3 ا�12' ا���)�, و ��)3 ا�12' ا� ���, 

  
  .8*��,).�-, ا������Bل ).�-,  ◄
  

 
2I <�ŠËiá^eæ„Ö]<íé×e^ÎíËéÃ–Ö]<<ð^¹]<»<áçe†ÓÖ]<‚éŠÒ_<êñ^ßnÖ<<æá^eæ„Ö]<íé×e^ÎíÃËi†¹]<çÚúÖ<ð^¹]<»<Õ^éÞV< 

]<‚éŠÒ_<êñ^ßm<‡^Æ<íòèˆq<á_<^²^ãé×Â<àÒ^‰†ãÒ<�m`i<íéfŞÏÖ]<ð^¹]<l^òèˆ¢<‹éÖ<HíéfŞÎ÷<áçe†ÓÖ<J<^Êø}<ð^¹]<»<ÔÓËji<÷<êÖ^jÖ^e<æ
Õ^éÞçÚù]<íòèˆ¢íéfŞÏÖ]<�Ö]<ð^¹]<l^òèˆ¢<íßÒ^‰†ãÓÖ]<l]�m`jÖ]<ØÃËe<ð^¹]<»<hæ„i<<<J< <

<<<< <
 �����4<<< <

1I Ö<íéñ^éÛéÓÖ]<íÇé’Ö]<‚è‚£]<…æ…ç×Ó)III(V 
‚è‚£]<…æ…ç×Ò(III)‚è‚£]<l^Þçè_<àÚ<áçÓjè<êÞçè_<g×‘<gÒ†Ú<(III):

3Fe +
 …æ…ç×ÓÖ]<l^Þçè_<æCl −<J< <

êâ<äjÇé‘<ádÊ<gÒ†Û×Ö<êñ^e†ãÓÖ]<Ù�^ÃjÖ]<…^fjÂ^e<<<<<V3FeCl< <
2I ^Ã¹]ð^¹]<»<äÞ^eæ„Ö<íéñ^éÛéÓÖ]<íÖ�V 

2 3
 ( ) ( ) ( )3 3 H O

s aq aqFeCl Fe Cl+ −→ + 
3I Ùç×vÛ×Ö<êÖç¹]<ˆéÒ�Ö]V 

h]„¹]<àÚ<åˆéÒ†i<çâ3 ( )sFeCl<<V
n

c
V

=<<oéu<n<‚è‚£]<…æ…ç×ÓÖ<ì�^¹]<íéÛÒ(III)<J< <

á_<^²<æ<<<V
m

n
M

=ádÊ<<<êÖ^jÖ^e<<<<V
m

c
M V

=
⋅

<<<<<<<<lJÅ<<<J 1( ) 3 ( ) 162,3 .M M Fe M Cl g mol −= + =<< <

←<<<<<<<<<<<<<<<
3

1
1

4,05( )
0, 25 .

162,3( . ) 1 (00 10 )L

g
c mol L

g mol
−

− − =
× ×

= 

4I ËÖ]<êÖç¹]<ˆéÒ�Ö]Ùç×�]<»<íŸ^ßÖ]<l^ÞçèúÖ<ê×ÃV 
<<á^eæƒ<Há^eæ„Ö]<íÖ�^ÃÚ<gŠu1 mol<‚è‚£]<…æ…ç×Ò<àÚ(III)<sjßè<1 mol‚è‚£]<l^Þçè_<àÚ(III)<æ<3 mol…æ…ç×ÓÖ]<l^Þçè_<àÚ<J< <

çâ<°Þçèù]<àÚ<ØÓÖ<ê×ÃËÖ]<ˆéÒ�Ö]<áƒc<<<<<<<V3Fe c+  = <<<æ<<<3 Cl c−  = < <

    lJÅ<<<J      
3 10,25 .Fe mol L+ −  =   æ     

10,75 .Cl mol L− −  =     

   <<<<<<<<<<<<<< <
< <
< <
< <
< <
< <
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< <
 �����5<<<<<< <

1I …çÚ<x×Ú<»<‚è‚£]<áçè_<íÃéf�V 
<êÞçè_<g×‘<gÒ†Ú<ØÒ<áçÓè^éñ^e†ãÒ<÷�^ÃjÚ<V<äÖ<íÞçÓ¹]<l^Þçèù]<l^ßv�Ö<ë�¢]<ÅçÛ�]<ë_Ý‚ÃßÚJ< <

éÖ<àÓn�‚Â<Ú<x×¹<áçÓ¹]<‚è‚£]<áçèù<íßv�Ö]çâ<åˆÚ…<ë_<H…çnFe +<ÄÚ<n<<äjßv�<æ<HêÃéf�<xév‘<�‚Ân+H< <
êâ<x×¹]<]„�<íÞçÓ¹]<ï†}ù]<l^Þçèù]V< <

IÝçéÞçÚù]<áçè_<<<V4NH +äjßv�<æ<<1+<<<<<<<<<<<<Il^jè�ÓÖ]<áçè_<<<V2
4SO −<äjßv�<æ<2−<< <

<Ù�^ÃjÖ]<…^fjÂ^eE�^é£]<D�‚ÃÖ]<êñ^e†ãÓÖ]níéÖ^jÖ]<íÖ�^Ã¹]<ÐÏ¬<<<<<<V1 2(2 ( )) (2 ( )) 0n + × + −×+ =+<<←<<<<2n = 

<‚è‚£]<áçè_<çâ<…çÚ<x×¹<áçÓ¹]<‚è‚£]<áçè_<á_<sjßjŠè( )II<<<<<<V2Fe + 
2I éÛéÓÖ]<íÖ�^Ã¹]ð^¹]<»<gÒ†¹]<]„â<á^eæ„Ö<íéñ^V 

( ) 2 2 2
4 2 4 2 2 ( ) 4( ) 4( ) 2  ( ) ( )

2 ( ) ( ) ,6 2 6H O
aq aq aq ls

Fe NH SO H O Fe NH SO H O+ + −→ + + + 

3I ^ãje]ƒc<êÇfßè<�Ö]<…çÚ<x×Ú<í×jÒV 

^Þçèù<ì�^¹]<íéÛÒêâ<Ùç×�]<»<‚è‚£]<l<<<<<V2 2( )n Fe Fe V+ + = ⋅ < <

á^eæ„Ö]<íÖ�^ÃÚ<gŠu<æ<<V2( )n Fe n+ =<ÄÚ<<
m

n
M

=íe]„¹]<…çÚ<x×Ú<ì�^Ú<íéÛÒ<<J< <

sjßjŠi<^ãje]ƒc<êÇfßè<�Ö]<…çÚ<x×Ú<í×jÒ<<<<<V2m Fe V M+ = ⋅ ⋅ <<<    < <

<<<<<<<<lJÅ<<<<<<<<J  31 10,10( . ) 100 1 392( . ) 3,90 (  )m mol L g mol gL− −−× × =×=     

< <
 �����6<<<<<<< <

1I àÚ<ØÒ<á^eæ„Ö<íéñ^éÛéÓÖ]<íÖ�^Ã¹]ð^¹]<»<íéÞçèù]<l^fÒ†¹]<å„â<V 
 

2

2

2

( ) ( ) ( )

4 ( ) 4( ) ( )

3 ( ) ( ) 3( )

 

 

 

H O
s aq aq

H O
s aq aq

H O
s aq aq

NaCl Na Cl

NH Cl NH Cl

KNO K NO

+ −

+ −

+ −

→ +

→ +

→ +

 

2I Äf�Ú<Ùç×¦<»<íŸ^ßÖ]<l^ÞçèúÖ<ê×ÃËÖ]<êÖç¹]<ˆéÒ�Ö]<V 
á^eæƒ<l÷�^Ã¹]<å„â<àÚ<ØÒ<»<á_<Àuøè1 molsjßè<êÞçèù]<gÒ†¹]<àÚ<1 molæ<l^Þçéi^ÓÖ]<àÚ1 moll^ÞçéÞù]<àÚ<<J<á_<�Ãè<]„â<æ

ëæ^Šè<ë„Ö]<æ<h]„¹]<àÚ<Ùç×�]<ˆéÒ†i<ëæ^Šè<íŸ^ßÖ]<l^ÞçèúÖ<ê×ÃËÖ]<êÖç¹]<ˆéÒ�Ö]<<V
n m

c
V V M

= =
⋅

< <

jÂ^e<ÜmíÃf�Ú<ØéÖ^�]<á_<…^f<<<<V
m

s
V

=êÖ^jÖ^e<æ<<<<<<<<<<<V
s

c
M

=< <

< <
���رور ا�=�د��م� F�2� ل��رور ا������م  �" �1���� F�2� ل��1� "�  

s
c

M
=  

Na Cl c+ −   = =     

  .ع.ت
1

1
1

360( . )
6,15 .

(23 35,5)( . )

g L
c mol L

g mol

−
−

−= =
+

  

16,15 .Na Cl mol L+ − −   = =     →   

  

s
c

M
=  

4NH Cl c+ −   = =     

  .ع.ت
1

1
1

372( . )
6,95 .

(18 35,5)( . )

g L
c mol L

g mol

−
−

−= =
+

  

1
4 6,95 .NH Cl mol L+ − −   = =     →   

  

< <
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< <

  �" �1��ل �F�2 ����ات ا��������م
s

c
M

=  

3K NO c+ −   = =     

  .ع.ت
1

1
1

316( . )
3,13 .

(39 62)( . )

g L
c mol L

g mol

−
−

−= =
+

  

1
3 3,13 .K NO mol L+ − −   = =     →   

  

< <
 �����7<<<<< <

1I Ùç×¦<ØÓÖ<êÖç¹]<ˆéÒ�Ö]V 

çâ<h]„¹]<ˆéÒ†i<Ùç×¦<ØÒ<»<<V<<<<
n m

c
V M V

= =
⋅

< <

< <

  �1��ل ه��روآ �� ا��������م  ���� ��م�1��ل ه��روآ �� ا
  

1
1

1

m
c

M V
=

⋅
  

  .ع.ت
3

3 1
1 3

10

1

50
6,76.10  .

(40 34) 100 0
c mol L

−

−
− −×= =

+ × ×
  

  

2
2

2

m
c

M V
=

⋅
  

  .ع.ت
3

2 1
2 3

10

1

80
1,43.10  .

(39 17) 100 0
c mol L

−

−
− −×= =

+ × ×
  

    

 
2I ¼é×¤]<»<l^ÞçèúÖ<ê×ÃËÖ]<êÖç¹]<ˆéÒ�Ö]<V< <

Iá^eæ„Ö]<l÷�^ÃÚ<<<<<<<<<<<V2

2

2
2( ) ( ) ( )

( ) ( ) ( )

( )

 

 2H O
s aq aq

H O
s aq aq

Ca OH Ca HO

KOH K HO

+ −

+ −

→ +

→ +

< <

<<<<<<<<I¼é×¤]<»<l^Þçèù]<�†q<<<<<<<<<V2
( )aqCa +<<æ<( )aqK +<<æ<( )aqHO −<<< <

<<<<<<<Il^ÞçèúÖ<ê×ÃËÖ]<êÖç¹]<ˆéÒ�Ö]<<<<<V<á_<Àuøè<<çâ<¼é×~×Ö<ê×ÓÖ]<Ür£]1 2V V+<°Ãe<„}öi<æl^ÞçèúÖ<íéf‰^ßjÖ]<løÚ^Ã¹]<…^fjÂ÷]<J< <

<<<<<<<<<<<<●ÝçéŠÖ^ÓÖ]<l^Þçè_<ˆéÒ†i<<<<<VÙç×�]<çâ<l^Þçèù]<å„â<…‚’Ú1S<H¼ÏÊ<< <
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